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Solved Exercise 5.1
P LBV IPVP 9P Bs 0005050000088

1. Write the difference between discrete data and

continuous data. -¢‘-_J)y‘u¢;lrﬁu!f
Ans.Discrete Data: This type of data contains only
whole numbers. 2
-q_rnd"'{,lxchﬁ:/!(’Jl s
Continuous Data: This type of data contains
measures. These measures can be broken down into
smaller individual parts. 4
L:‘:’J-.rz’erfu:‘fgul-e- t‘rfJ?{u:‘jlq:v b’fu" 1)"’JJ/
' N 2t SN
2. Write down the difference between grouped data and
ungrouped data. ..;{)EJL«J)J:’M;/;}M:'M;/
Ans.Grouped Data: The data which is arranged in
systematic order is called grouped data.
-t ru:':'lm,a,/;:_,v’g,.,g}c.a.) gy I3 :J'M:f
Ungrouped Data: The data which is not arranged
* inany systematic order is called ungrouped data.
-.LVM';Uuﬁﬂgf&:C,J}c_a.)rb u’{xﬂr_’-.ﬂn: ::frgﬁo//!
3. Separate discrete data and continuous data,

..L[/:l.b 'Lhﬁ'w:’m

(i) The number of students in 7th class.
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() What Is the size of class

Ans.The size of class interval is 5.
What is the lower limit of the clagy 'M""
te\lin (i 1004 5, 6,{"
The lower limit of the class interval 20-24 i %, :
“."’20“"0.‘!"&/(20—243;’3,)
the upper limit of class interval 38397 ;
Y%g#J!!}JJ.LJ';J;’L
nierval 35"39 is 39, '
392014 353957,
class interval 30-34»

@iy
20-247?

Ans.

(1il) What is
Ans.The upper limit of class i
(iv) What the mid point of the

Ans.Mid point _Fi’up! G
(v) What is the frequency of cla

?:,.-L/A""J?b’so-aw,yu
4 64
30+3 -5 ~1

interval?

Te-ertn sy
)

-d.— 5-:/L?JJ;'JJ

test out of 100 marks are given below:

:éJ‘b,JJS.aJﬂ.:-(ﬂlOOJM“u{lﬁu‘p}_fu“
50,49,49,47,48,34,39,78,73,67,58,56,62,46,38,42,84
60,83,50,68,60,90,70,57,57,61,49,61,58,49,79,89,77.%4,
Construct freuqncy distribution table with 10 numbes
of classes. Also find midpoints and class boundaries

for each class Interval.

Kzttt 1m0 UPE L L b L0
-q/(%m}’ Lf.u'ﬁ(h

ss interval 25-292
fe 07V 2529 5,7,
Ans.The frequency of class interval 25-29 is 4,
-4 25-29 5,7,
5. The marks obtained by 35 students in a Mathemajey

—

WIS SR esln 7L E Sol. The largest value Jﬁd'f;r_./ =90
Sol. It is a discrete data, ) WY o 3 The smallest value uld){c:( - =34
ii : e ber of classes yuwdU#Lz = 10
(ii) The weight of a bag. B =1 The num
Sol. It is a continuous data. PRy e REERNE BN - L
' The size of class interval = —2i N
(iii) The number of players in the ground. Vgt o
: WSS LY =L dl widuu
Sol. It is a discrete data. cein) e _90-34 36_ o
(iv) The speed of storm. Al 10 10
Sol. It is a continuous data. weir) Ll Class | Tally (Frequency| Midpoint| CB
Th ture of a room ke S intervals | marks,| =0, S5 | el
v) e temperature 0 s - £ L isu’b. ‘t%&
Sol. It is a continuous data, -c‘-ﬂrJ’V Ly i 3439 7 3 355 1335393
4. Read the frequency table given below and answer i 4045 I | 15 [39.5455
the following questions. 46-51 L] 9 48.5 [45.5-515
..g_[}.bpitﬁaUfnb,v#»fu-‘.’z.fdwd.vﬂd}«vﬂ : 52-57 n 4 545 [51.5-575
Class intervals Frequency § 58-63 (T} 7 60.5 57.5-63.5
L e P 64-69 | 2 66.5 [63.5-6%
20-24 s | 70-75 i 2 725 |69.5-753
25 -29 4 i 76-81 N 3 78.5 |75.3-81
3034 6 i 82-87 ; 2 845 [81.5473
35 -39 5 88-93 | 2 Q0.5 [87.8 9.&5‘
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. The numbﬂ of electricity gnit
‘ 3 eusumcd by 50 :
tualowlnummlnbcllﬂvﬂ'

mgnn

AJV'L AUU“CL&LM’A”’.{LMU g
-Q 45 "’

(25,6681, 5.5 64,136,130 T 66 .56 l:)s}a,;o 7{‘},‘ :

162,100 62,113.60,93,101,164,58,111 4 "5.113,81,96,

111.90,90.87 56.109,155.94 66,129,139,
‘fh‘g‘d‘"’ E1.97 .84 ”77'83

Construct » frequency distribution table with IO . The masses of 40 students at a university are given

gumber of classes. Also caleulate m
class bound artes, idpoints ud

P N OV N ¢ "r’-’i.b)/i..wusfu?u
gol. The largest value A re. o = 188 ‘44‘*‘\3‘5
The smallest value (,d,{‘_q_, 48

75,61,89,65,68,75,84,67,75,74,82,62,68,95,00,78,62,
63,88,72,76,66,93,78,73,82,79,76,88,94,73,77,60,69,
£ $3,74,71,68,59,60,85,96,75,78,61

. Construct a frequency distribution table with § :
sumber of classes. Find midpoints and cluu §

et

The size of class interval = ‘Ju-.» AT P—
NS Ny P Number of ¢/anses
d ju pr.J\JPU

L 185-45 110
10 |o :
Class | Tally |Frequency| Mid ch i
intervals | marks | =0 .GF f u.J'u.
Luf‘ﬂ &tﬁ'&&
" 45-56 M 7 50.5 |[44.5-56.5| i
§7-68 ' 7 625 |56.5-68.5|%
9-80 L 5 745 |68.5-80.5|;
| §1-92 (' 7 86.5 |80.5-92.5|;
93-104 | WM 12 98.5 [92.5-104.9 i
105-116 N 5 110.5 [1045-1164 ¢
117-128 a 1 122.5 |1165-1285 :
129-140 il 4 134.5  [1285-1404 §
| 141-182 - - 1465 |1405-1529 §
- | 153-164 ! 2 158.5 [1525-1649:
1. The scores in Sclence of 45 students are given :
- below: WL ALILA

e ————

Class Tally [Frequency Midpoint| C.B
intervals | marks =ho Bu’; w2
L’Ju &tw

5966 | WM 10 62.5 |58.5-66.5

6774 NI I 705 |66.5-74.5

75-82 Lt 13 785 |74.5-825

83-90 ] 6 §6.5 [82.5-90.5

91-98% L] S 945 [90.5-985

'iol The largest value /JJlﬁ-q/

below: U’TJJLJJJ\L)ML&I!»[
153,144,164,128,152,135,150,168,140,135,126,132,
144,148,138,161,145,176,125,149,163,135,142,119,
157,146,154,150 156.165.15!.140.146,14!.12!,1 13,
147,136,142,147

Find the midpoints and class boundaires after
constructing frequency distribution with 6 number.
J‘J’IJU)’V..".,[/(‘P' MM Wi UW?{,"}
176

The smallest value /lJﬁ'c.._/ =119
Largest vane -

Py E—

Srallast viaue
I A e

The size of clasa interval =

- Murrsar of cianses
&’HJJ)U’L&

b
176119 57
10

=95 =

Class
intervals

Lu?u

Tally
marks

.s-tﬁ{.&'

Midpoint
Ay

Frequency]
=

C.B
neda

1185-1285
128.5-138.5
138.5-1435
1485-158.5

123.5
133.5
1435
1535
163.5

119-128
129-138
139-148
149-158
159-168

~

Ml
LR

—
ot

N oA D

158.5-168 4
169-178 1 1735 [1685-178.5

1. A survey was conduhd from the students ol’
grade-7 and asked the students abaut their favourite”

boundaries. season. Draw horizontal bar
R (POT- 0 A W  7  FW ¢ fL-s:UJuru graph for the following table: g oo
-; WJuf P Lumrui Lo Pl Pide SASL SN
- Sol The largest value s za- o = 96 T N SR VA0 (W PSS P S N 7 7S
The smallest value /50 #ee o = 59 : L it
Lomgest vaiue - Smallestviaue  { Sol,

The size of class interval = m G u;:.“"" ; [Number of SemnIWm!er['iummer Spring [Amumn

E 344 ?J,.A".t.?h?. P 3 e uv’”" A e JI7
06-59 37 : (Number ?fsmdrase 3 | 20 § &5 | 25
e Y i 74 : g J i | | :

i
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Horizontal bar graph
Y ¢ .
£
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'6\.} ¥+
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Y E:
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3t
/\A 4 4 3 4 L o
v L] 1 ] V |
0 20 30 40 50 X
Number of Seasons
A Vertical bar graph
2 Y A U
o
§ st
wn
SR 404
5
E 30 +
=
Z
20 +
q; | i | 1 L -
°y v % n

Winter Summer Spring Autumn

Number of Seasons
ls AP S
Answer the lollowlng questions.

class? 793#2.’ # =l i
Ans. 128 students 128
(b) How many students chose summer?
WPl S
Ans. 20 students %20
(c) How many students chose winter than Autumn?
Wl rulic yil S
Ans. 13 students . #13
(d) Which season is the most liked by the students?
Widnlia e ff S L

Ans. Spring season /¥

(¢) Which season is the least liked by the students? : e LIS et
flr(*'%/ L‘T’qu/(fkf( Name 60 Vehicles Car | Bicycle | Motorbike | Rickshaw van B’*’i

Ans. Summer season L/ff : Lyt Koo L B | oen b
i

P LYY PO

(a) How many students are there altogether in the 3

—— [ !
¢ 2. Use the Information given in the table lo may, 82y /!,
graph and answer the following question, g |
L&W!“JJ(/:JJI’J&JI J’_{l‘_‘_\)‘-d’d“.‘d /;
: L
; Sol. 'thv" |
[ Time &h  [spmler.m]7P.M [8P.M 9P M ] 10p o ,C/'
[ Numbeof [1o|as| 1s | 30 | 3 | \/
i diners ) "
L Jum vty
E o
: o
$ Line graph of number of diner's
YA R (g
$ - F
3
40 - B
15 (L
E =
| bl
i |T
Pl | / A
i |e
i |a
: f—y:?- \ ||
: 3
R o Bl P s
5 &
5 ety
: £ £ E E E E .
: L @ . @ o . : X
z = 8
: ¥ +
Tlf;e

: (8) During which 1 hour interval did the greatest
decrease in the number of diners occur?

?JRJ:JLJ;-#JJUJJUJBLU’IJJJ NI( 4
: Ans, At 10PM £ 10,

(b) What was the difference in the number of diners
between the hours when the restaurant was the
most crowed and the least crowded?
Lﬂi.ﬁ’(av-‘:’u})‘u'iﬂuygVt}:jﬂ-f’!u"‘ i

TS LISl

Sol. 25 people s

3. The table shows the vehicles that Tahir saw on e
road during a particular time. Draw a ple graph.

ff..)&*ﬁ ug)f.iﬁ'/.f /gﬁ.);gfr"'_flﬁ/wwn) s

4 404208444006 UCEqaddddqaatqan

e
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b, el

Motorbike
Jf’wf

(a) How many mo

bus?

Rickshaw
(27
Answer the following questions.

_QJaylﬁﬁaUlfd_‘_igJﬂ
re cars did Tahir see than the
-(fgnkz'(fgﬂ(fw;(c.ﬁﬂ(fuﬁi_/:u

Ans. 75 more than bus {75
(b) Which vehicle did Tahir see the most?

e gl

Ans. Motorbike f sy
(c) Which vehicle did Tahir see the least?

~ Ans. Van u{:
(d) How many vehicles were there altogether?

r—

Ans. 365 vehicles altogether UL€365
| 4. The following frequency table shows the number of
goals made by a player in 70 football matches.
Represent the following table on histogram and

interpret it.

Lol tufdpeinne Sty NAAREN P
W Srbk lS Ji U1-s e/ G U Ll
ny

SN e

N
—per of Vehicles [100] 20 13
5 _ 0 80 |[10]2s
,i)JLJ!‘r
mhicles Number of Angel of Secjor
/ﬁéfdi’“’ Vehicles ,u3f ¢ I
/5 10 100

ool " gl
picycle S g e

365 X 360°=20°
L '’
viotorbike Ll 130 130

— x360° =128°
£ i 365
Rickshaw L 80 20 ¥

363 X360°=79°
il 10 10
yan =3 3—65X360°= 10°
o 25 ?653 X 360° = 24°
i Bicycle

F

A w‘f}’

I I O T R R A R R AR R L]

— -

Number ofgoats | 1| 2 |3 |4 |5]¢]|”
J'A”.Jjj’

Number of matches | 20| 10 [ 13|18 5| 9|53
ISUF

Title: Histogram of number of goals in different
matches by a player.

SSHL WL UFD

N

s

3 4 6
Number of goah,u,;'Jj

7

X

5. The following frequency table shows the number of
school bags sold by shopkeepers. Also tell how
many shopkeepers are there altogether? Draw
histogram for the given table.

LiibL ebje SAS UG Jre f(-'-j' Yt i g
Fitn-& it X SIS et b IS S B UF

LS
Number of school bags | 241-250 | 251-260 | 261-270 | 271-280 | 281-290 | 291-300
JLU’JJFJ;
Number of shkpkeepers | 15 10 20 13 1 18
:IﬂJuMiru
Sol.
Number of Number of C.B
school bags shkpkeepers el
;fﬂd//.cdsa J'Jv".JUJJU(”
241-250 15 239.5-250.5
251-260 10 250.5-260.5
261270 20 260.5-270.5
271-280 13 270.5-280.5
281-290° 7 280.5-290.5
291-300 18 290.5-300.5

Title: Histogram of number of school bags sold by the

shopkeepers

miJ;?J_uz_:g_é =31/ ._J)J UrbSEa gt
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pkeepen
U 1]
~
1
| §

Il

Number of sho

240.5+

6. The following

("f:‘:" uga)frJ.

CB (Bags) ()g)””:';'u,
Total shopkeepers MyHf =83

b4
o
~
~

80.5

wvy

g

3005

; table shows the lengths of 320
ribbons. Construct histograms for the glsen data:

O t'/;: u':GLv"J )’JZJOJ)A{J_ BEV

_u_‘u}lw

Length (m)of
ribbons UL

§<x£10[10<x15

15<x€20

20<x£25( 25<x£30 | 2

Number of ribbons
:L«-”J bl

60 50 k]

95

Title: Histogram of the length of the ribbons

graph?

AUt IS i

20 2% 30 X

Length of ribbons uk.’l,}d}_,

7. Make a table and draw the appropriate graph for the
fellowing data. Also explain why did you choose this

S S Limlgf’h-.ﬂf,/ bedls OIS banicant s ’B‘Jup.._ﬂ
UL P T
(i) A bag contains 150 balls of different colours. There
are 50 red balls, 20 blue balls, 30 green balls, 15
black balls and 35 yellow balls.

200740 iz/soc.ﬁdf-‘m}}"‘{w&f 1508y F il (]

s 835 iy S 88 150 il 300 T E
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- _ - (7
¢ different colour of bally In
A

Title: Bar graph of th :
bag. ‘ Jl/fu:ifl!u;g.ﬂ‘;g.{l -

]
1 Blueball Green Rlack Yellow
T Bl Rbm ball  ball el X

I
Aoy Al ol e ALK
Calours _(:,

The given data is qualities so the bar graf is suitable
YV 0T TV Y RO T S Y
(i) Azhar rolled a dice 200 times. The number "1~ m':
occured 20 times, the number “2" was occureg 3
times, the number “3" was occured 40 times, |,
number "4" was occured 25 times, the number
was occured 53 times and the number "6~ y;,
occured 27 times.
35210 2412220 0K 16 2220051, , 55 S
27K 6 TASI 21K Sk UN25 41K 4L T2 P40, ink g7

<4l

The number occuredondice| 1 |2 [ 3 [ 45 %‘
—~ralislnsbysld ‘

The number of occurance |20 | 3540255327

}'A:JLH/:WMH 14 |

Title: Histogram of occurence of the outcomes of dice

r-’/ﬁ"JurﬁtLhLQLbﬁyﬂ i

[“‘_P.
55-0-
50T
45
40-1
g
5 § 35
8 J 30
"5(3
Evy 251
i R
z 20 A

X

S ' -
A PR \Y

Number on Dice K30

Colour of balls | Red Balis | Blua balls | Green balls | Black balls | Yellow balls The data is d;

Ihned | gty |yl | el | udie | il o Cta is discreate and both variables are
Tmf “L'?”‘ y A8 | quantitatiy &30, histogram is sutiable

Wi % br gy ii

J ‘E—*r"'l/‘..’lfb/rl;ﬁdéJ'ijd"u;,/:,.u}”J”‘___JL:‘:,‘#&‘,,’.
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Find the mean n of the. rst ten whole numbers

; LGSk
— X
sol. X n
0+|+2+3+4 T5+6+7+8+9 45
3 - E=4.5
,-' Find the mean first five prime numbers.
VY NPy AV %
| _‘2+3+5+7+|l _28 F
ol £ = : e =5.6

. Themeanof8,11,6,14, x and 13 is 66. Find the
value of the observation x.

LI d 3 6609 13.908,11,6,14,x
SRR
x:-l——
sl - X =
8+11+6+14+x+13
6

66=

66 % 6=52 +x
396 =52+ x
396-52=x
344=x
¢ Find the median of the follow data.
27,39,49,20,21,28,38 -/ /el )i
Sol. Arrange data in ascending order
T nm d»“.,.«-/f Iy’
1 20,21,27,28,38,39,49
The total number of values is 7. i.e.,'odd, the middle
value is median; : »
_q.::lb::—éd?u_?otbdfg%lﬁd,u;/
Median (2b-s) =28
o 10,19,54,80,15,16
Sol. Arrange data in ascending order.
I Lo Tl
10, 15, 16, 19, 54, 80
The number of terms is even. So, the medlan will be
the mean of two middle most terms.

G -(nhld’uﬂzdlﬁm.-lb-m’.dla..ﬁﬂ#d/uﬂ;

‘Median (2b-1) = 16;19'
’ 35
ok Tt 17.5

47, 41, 52, 43, 56, 35, 55, 42
Sol Arrang the data in ascending order,

WA Sl
.o 35,41, 42, 43,47, 49,52, 55, 56 AL

The number of terms is odd. So, the median will be
the middle most term.

PORRRNRY

ddll14dlll‘llll‘C“Illll!‘ll“‘il‘(ll‘lil1‘4“!.1“.‘ll"‘Il‘l.".D}.0.).)..!'0)..').5!..!IIGI‘I:I'IIII.D.').'I.).D.OD"!.)DDDIDDDLIlblDl.l’b.l.l.l.l'l'...l.l.l.i.

A dE 4404 dddadidIaEuagdad9a484eddeadedeaaadeddde

-rnf';[}yﬂ;_.,./,;uug.duq.dwjd’wl
Mediam (2&-5) = 47
12,17,3,14,5,8,7,15

Sol. Arrange data in ascending order.

3,5.7,8,12,14, 15,17
The number of terms is even, so the median will be
the mean of two middle most terms.

b’nbﬂJ u::':u:(j s Uz—-hg_ Ve .:-5’-1'1-;01 U)‘.'.J

8+12
Median (26-s) = ~—F—

2
=10
Find mean and median of the give data set.
Yy /’(}"tﬁﬁulb)'(fur’ﬁﬂ:‘ébl

First 10 even numbers’ il =2 J;£

Sol. 2, 4, 6, 8,10, 12, 14, 16, 18, 20

% = 244+6+8+10+12+14+16+18 +20
) 10

110

= —=]I
10
Median (.-lh—:)
The data is in ascending order. The number of terms

is even, so the median will be the mean of two middle

most terms.
»,er;mdw., Uumj. J‘LJJ'J"JU}JJ—L AL ) j

10 +12
Median (2&-s) = 2
gty
2
odd numbers between 50 and 70
Ll sl 70,5150
Sol. 51, 53, 55, 57, 59, 61, 63, 65, 67, 69
- _LX
x = e
n
- 51+53+55+57+59+61+63+65+67+69
10
_ 600
10
=60
Median (2&-s):

The data is in ascending order. The number of terms

is even, so the median will be the mean of two middle‘
most terms. ;
Jr;’.m dyz)gﬁa:é_dl.g :.-infJu;Ju};J-‘.'— Ly

{39
59+61
Median (&-s) = 3
- B
2
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¢ Multiples of 15 below 100 20 +25+21424 422418432

: S J4 49
- - 8 .
L5 100
Sol. 15, 30, 45, 60, 75, 90 pig : 182
g : . 9% 2218
. : 8
X === 2 i
n i Median(z26-»): Arrange data in ascending order
_ 15430445460+ 75490 ¥ LE RS, |
6 : 25,32
: 18, 20, 20, 21, 22, 24, 25, 32
. PRI AAE L] ¥ . ¢
=3:55=52.5 : Here number of terms is 8, i.e., even. So media, is

the mean of two middle terms.

Median (o*-s): The number of term i evEn. K L,,lb’g:;ﬁ»d_ln:gl&—)é_d l.;..u"-&'»"tfu:zuk

POERBEIRRIRRLRY

Mean ks > Median k-5 > Mode nik
So, the distribution is positive skewed

-3 WA c-:"(‘:z&vﬂé !

So, the median will be the m i 21+22_43_
by can of two middle most i Median () = = 21.5
-rnkulJu:;;d_l(‘m:::lb-;_idf_e,c,;z,ujd'u}}; g Mode 22k =20
Median (:-y) = ﬂi;—ﬁo = l—gé=52,5 Mean k-l = 22.75, Median 2k-s = 21.5, Mode 254 =20

Solved Exercise 5.37 f

e -0»0‘0.--‘-90““-"0-"

2. Find the mean of the following data:
LAY G 3 i
(i) 42, 40, 47, 35, 41, 50, S8, 30, 32, 45

L e T

(i) 9,13,9,19,21,15,30,35,91

Sol. Mean (b4IdL>) X *%

9413+9+19+21+15+30 +35+9]

Sol. Mean (b-41}L>) X LA
; n

9
= 32+440+47+35+41+50+55+30+ 32 + 45 242
. = —3269
10 9
o 417 Median (#-1): Arrange data in ascending order,
: 10 LI ALy
(i) 25,29, 12, 15, 31, 36, 38, 40, 30 9,9,13,15,19,21,30,35.91

Sol. Mean (b-I}L>) X =%‘-

= 25+29+12415+31+36+38+40+ 30
9

Here number of terms is 9, odd. So median is the
middle most term.
Sntdne o besel 1o e 90LIS Ut
Median (:k-5) =19
Mode (osk) =9
Mean b =26.9, Median #b-3= 19, Mode 1)k =9
Mean sk > Median Z&-3 > Mode bl
So, the distribution js postive skewed. ;
. -f,'—J').‘.C = n-dw’.ihf'
(ili) 24, 80, 50, 55, 66, 68, 79, 80, 80, 9 ety

Sol. Mean (LtdL>) X P2
: n

25
===28.44
9
(iii) 56, 71,78, 67,76, 62, 56, 77, 76, 63

Sol. Mean (bsIl>) X =%

- 56+7|+78+67+76+62+56+77+76+63

ll'c(lll(llll!ldiiti1-‘11.1ll|144llllll‘lllldititll1(0|||¢|Ilcillilllltl‘lethlbpilblbblslliillnl)lbtlbnbnllbn

10
) %z o _ 24 +80+50+55 +66+68+79 +80+80+95
: 10
2. Compare mean, medain and mode and also tell the : ot 677
shape of the distribution of the given data: Sl

-w’hU{thﬂj&'féeJJ!’L[ﬁ}VﬁJEJ:',}GA:M'
(i) 20, 25,21, 24,22, 18, 32,20

&ll

Median (_:l-y) = Arrange data in ascending order
AR i
24, 3055, 66, 68, 79, 80, 80, 80, 05

Number of terms s 10, i.e., even. So median is the
mean of the two middle terms.

..Ifﬂk—leu:;qu?ug&-s_iJ'{.u‘—hf.r?f'_ lﬂ"«":t{u”;

‘ X
© Mean (4411>) = e

SR S TR

FAEE LI A I addatdnan
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V:——"—l e g -
Medinn () = 28147,
2 2
Mode »l = 80
Mean bo! = 67.7, Median b5 = 73,5, Mode 1 = 80 :
| . o ok
50 the distribution is negative shewed
s Lt IRy
e 6,6/6,6:6:6:6,6,6,6,6,6,6 F6
Zx

Fsol. Mean bl X =

|
|

_ 6+6+6+6+6+6+6+6+6+6+6+6+6
13

= -—--_—6
13

Median k-
6,6,6.6.6,6,6,6,6,6,6.6.6
Here, the number of terms is 13 i.e., odd. So the
median is the middle most term.
e osd e Jb e 1305 U5
Median :&-2 =6

Mode 1k =6
Mean b3l =6, Median -y = 6, Mode 1:4=6
Mean bl = Median 2y =  Modenbk

 So, the distribution is symmetric -‘4‘)/5(:;.'. d;ﬂ:,,:’_(ﬂ
4. Find average of the given data by using an

-

, n 4
|G :

appropriate measure of centrel tendency.
LIt spire B par W SOy

G 10,15,7,8,11,12,5,3,4,5,9,11,12,14,8,7,6,5,4,9
i

|) 5, 99567379145

(nii)ln a class, 40 students have black eyes and 50

students have brown eyes.
Compute mean, median and mode.
() 10,15,7,8,11,12,5,3, 4,5, 9,11,12, 14,8,7,6,5,4,9

Jix

I0+15+7+g+1|+11+s+3+4+s+9+|l+11+14+a+1+6+5+4+9

165

20
=825"

(i) 54,9,6,3,9,45

Sol. Arrange the data in ascending ordeg. . - #™
p S SIS Sy
3,4,5,6,9,9,45
The number of terms is odd. So, the median will be
the middle most term.

-Jﬂﬁlékuc.u.'/:}ﬁ-.iéd’-‘;—JWIMMJU)]JJ’:
Median ks =6

t
[ — A

srany

S T

I T T T S e S T R Y R A N R

CUaddaEq4ad e P PIIPIRIDD

d4eddadqedadeqidqe

AT 4RI AT 4440700009944 440adaqdaaqtadeadd

and mode.
Sol. Mean mass of 10 sacks of rice = 50.25 kg

]

(lil) In a class, 40 students have black eyes and 50

students have brown eycs.)

ALK TS, WSOJJ’f.rLa.{JrUrI a0 iz,
: Sol. Mode »b
(4) The mean mass of 10 sacks of rice is 50.25kg.

= 50 students 4#50} =

The masses of 9 sacks of rice (in kg) are:
AW L9 SN 50,280 MMUL AL
df-‘,z 3&;})

49.5,55.75, 50.5, 51.75, 48.25, 47.5, 54.23, 55.26, 53.25

What is the mass of 10th Sacks? Also find median
*Q&Pﬁ)kzngw:fngdwdu,’q:ﬂ

VhklkUugafuse
Total mass of 10 sacks of rice =50.25x 10
NS aSuse =502.5 kg

Total mass of 9 sacks Jhﬂ’unﬂ
=495 + 55.75 + 50.5 + 51.75 + 48.25 + 47.5 +

54.23 + 55.26 + 53.25
=465.99 kg

Mass of 10th sacks U\KU4U 7 = 502.5-465.99

=36.51 kg
Mean .:b-s:
Write data in ascending order. -u"{ﬁd;f‘_g/f Iy
36.51.47.5.48.25.49.5,50.5, 51.75, 53.25, 54.23, 55.26, 55.75

Number of data is even, so the median will the
mean of two mlddle most terms

Kbl J u:’/u d Pre ot UMA. Ve =) fp’J uﬂ;.fi

_ 505+51.75_102.25 _ ¢, 106
2 2 L "

Mode 12k = No mode J”ube
The average height of 15 students is 5.3ft the height
of 14 students (in ft) are:

L T g0a SRS YR T Te SN S ST
48525147455254555758484.94546
Find the height of 15th students. Also llnd median

and mode.

_Jfr}"()ln)hxl.;lh.«:-dff:k"é}jt{(}‘-(’“ s

Median &~

Sol. Average height of 15 students = 5.3 fi 3

Julbnf L5
Total height of 15 students = 15 x 53"
WS 15 =179.5 ft &3

Sum of height of 14 students ;,"Kugu’,ld'd*m
=48+52+51+47+45+52 +54+55+57
+58+48+49+45+46

=70.7 ft &
Height of 15th student =79.5-70.7
SUSF b s, =881,
Median -5 Arrange data in ascending order
LI AL il

45,4.5,4.6,4.7,4.8,4.8,49,5.1,52,52, 54,55,

57,5.8,88
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The number of data is odd, So the median will be
the middle most term

S Bdbdipie rgbond e Jundyi il
Mediam -y =35
Mode 236 =4.5,48,5.2

6. Find the mean of given data: -«.{ﬁ:"’wd’,l,u 3un

|

Can you find out the total number of Pos,
n;ltcomes when 3 coins are tossed.

TSI (LGS HESS TN E S
» 'u!éﬂf.u'é

Sol.When 3 coins are tossed, then ‘t‘e possible OUtcom,,
) w0l Tt/ f s
are as follows. Ui & b ! Chis

Ik U iy 1o

Ans. Yes, it is more likely to rain for today,
- il ndie Ty

Let B is the event of picking a green marble.

e PIL Y S A By

Class intervel | 6 -10 [11-15]16 = 20121 - 25[26 - 30 ¢ = § = {HHH, HTH, THH TTH
sttt | . 4§ SAPLERRRYS SR HHT, HTT, THT, T,
frequency | 17 | 20 25 15 0 |1, A bag contains 50 marbles out of which 23
=l : red and 22 are blue. If 2 mafble is picked out
Sal. _ 2 random from the bag. What is the probgh“"y
Class interval | frequency (1) X x : . thatit will be. i %
Sz oy : U ,(Jg‘k'n,b/zsLﬁul-f_;)//.u.m’fd’c'::smg{g
6-10 17 8 136 | ,.(,,p’upwn?z.t,ywévﬂu} 2. Jﬁ-{‘/:'.@
11-15 20 13 260 | ) -UnUR(E
NER Ty a8
16 20 25 I3 450 | (i) ared marble JfU&FE ALl
21 -25 15 23 345 : Sol. n(S) =50
2 i f a red marble
26 =30 10 28 280 i _ LetRistheevento : T b b
1f=87 THX=1477 |5 _.;_R(tb’__.wédfd'dc,/gw
j P A(R)=28
xazk _ L7 =16.90 i n(R) 28 14
R § 87 : : P(R)= n(S) =50" 35
7. _Find the mean of the given data:- ;s §i it AL
X 12 14 16 18 20 | i (ii) ablue marble A1 M1
r 100 [ 120 [ 105 | 95 | 15 |i n(©®=50
. 2 Let G is the event of picking a blue marble 0
ARSI f|X]+f2XZ +f3X3+f47\4 +f5X5 I3 ,gj -éﬂrtsz?&".'édegd:.gGng
fi+65 +13+f4 +15 ‘ i n(G)=22 ! :
_100x12+120x14+105x16+95x 18 +115% 20 0@ 25 11 .
2104600+ 1630+ 1680 e i T 5T
2 + : A
ol e F: : (iii) it a blue marble 1Y
921b 2di 1o : 11
8570 3 - 22
= —— =16.02 :. P(G)—l-_zs
O REN 3
AT _25-11 14
Sub-Domain (ii): T .28 25
Probability Kl  (iv) a marble n (s) =50 A
: i Let A is the exent to prich a marble
_skill Practice: :3*dtp | | e e AP FIL USSR
: n(A)=
¢ A weather forecaster forecasts there is 90% : ) n(A)
chance of rain today. Is it more likely to rain for : PA) = === 30 -l
today. . i n(s) so0
S0t LSS B L L S g Ay TR Jushle NAe7 8¢
: Sol.n(S) =50

: n(B)=0
e In tossing a 5 rupees coin are the events equally n(A)
likely? Sut G0 WE nZ brLov, gyl ; Y
Ans. Yes, these are equally likely events, _ 3 » __0__0
2 YO (A . 50



https://v3.camscanner.com/user/download

Solved.

she b cExerCi © 5.4\};‘1}0
loto the following T
1, Comp U :
b S s
§r. No n (A) n (S) p (A) p(A")
M 6 18 6 1 | 2
G i
D) 2 5 2 2 3
3 ]__=_
5 5
(i) 12 19 2 7
: 19 19
N | 3 6 5 l
6 6

.

7_7ain rolled a falr dice. What will be the probability of

getting number divisible by 37 Also find the
probability of number not divisible by 3.

GO L L@ b3 g 2l

L)
-b’ng'uﬁ-lb’urALbLn;f-iz :

Sol. Let A be the event that getting numbers divisible by 3.
Ul hd =3 S i Ay )

A
n(A)

; 3
= P(A)= 3
3. Shahzad throws a pair of fair dice. What will be the
probability of getting:
AP 34 Snt-e (4 bl iindsd P
() Number 6 on the I* did and at least 4 on 20 dice,
-n4ﬁlﬁi_bz_ e 164l bdt Lol
Sol, Sample space will be of two dice =36

s unéf«‘gf{ é_f L sd

n(S)=36

Let A be Event that getting 6 on 1* dice and at least

4 on 2™ dice

-"..74&'&1_'::_./::4:'6{1._!)% ﬁxﬂf‘a &{'H'uﬁAEﬁf)

A
n(A) =3

n(A)
PAFTE) =

" (i) no odd number

= {3,6)
=2 and sl n(S)=6

2
36
on

={(6,4), (6,5), (6,6)}

L
12

—
- el

both the dice,

-un;.le.ldeu)bu)u

- Sol. Let A be event that no odd number on both dice.

..é__T.:mJlb{u}bu:’»ft‘:_-‘f't'L:"u.(’AE'U/;

R A {g;)} 24), (2,6), (4,2), (4,4), (4,6), (6,2), (6:4),

-
-
-
-

n(A)=9and » n(S)= 11

n(A)
* !
36 4

(lif) Sum of dots on both the dice is at least 7.
-nabﬁl&:’: Vatl‘ﬁ{dﬂ:u}u
Sol. Let A be the event that sum of dots on both the dice
is at least 7. -

b ASEEL LT ark bt uivuind )
A ={(],6), (2!5): (2)6): (3,4)9 (3:5)1 (316)a (453)1 (4!4)9
(4,5), (4,6), (5,2), (5,3) (5:4), (5,5), (5.6), (6,1),
(6,2), (6,3), (6,4), (6,5), (6,6)}
n (A) =21 and .5 n(S) = 36

n(A)
So, P(A)= '@

21 4

36 12

; (iv) difference between the dots is equal to 3.

; e L3O A tﬂfl’ab@ﬁu)b

1 Sol, Let A be the event that difference between the dots

is equal to 3.
30t B USbu IS I LASS)

A={(14), (2,5), (3,6), (4,1), (5.2), (6,3)}

n(A)=6 and » n(S)=6

SENBRRRAPRARELS

Ld

BobPOOBBRLSEBBERRORRRRRRBPPOIDRIID

lu;.y

PERRERIYD

a
-

a
-
a
a
a
-

(v) Sum of dots on both the dice is equal to 15.
-MISJJ’: b’oﬂﬁéuibuﬁu
Sol. Let A be the event that sum of dots on both the dice
is equal to 15. ;
15 Kt Bu e 2 LAY
There is no result when dots on both dice is equal to 15.
- OB I 15 o7 Ka by U s
n(A)=0 and »s! n(S)=36
n(A)
So, P(A)= m id

0
T
4. A letter is chosen at random from the word

PROBABILITY" Find the probability of the following.
(IO s I I 7Ll LCPROBABILITYS
| .L{f

444 “llll‘l!d‘l‘l“‘l‘.C‘ICI‘!I"1“I!!‘l‘l‘(‘.b)l'l.’)’l!l’

44eede4ddaddaddqqaquase

44444494

() P(B)
Sol. Total letters of PROBABILITY are 11

-t 1137 EPROBABILITY 5
Let B be the event that the letter B is chosen.

VU P B ipa LBy

qdedddagqadd

444844489 qeean

“https //stepaca

demyofficial.com/
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B={B,B},n(B)=2 and » n(S)= 11
n(B)
So, P(B) = n_(gi il

i
11
(ii) P(A).
Sol Total letters of the word PROBABILITY are 1]

i arg w Ut 1S L PROBABILITY &
S J,eu;\ be the event that the letter A is chosen,
buiazias s e WU AS 2T I LAY

- A {A},n(A) =1l and s/ n(S) = 11
n(A)

nE)

4

11

So, P(A) =

(iii) P(T)
Sol. Let I be the event that leter | is chosen.
‘ - VWL 100 oy Ly 7
[={LI}, n(I) =2 and s n(S)=11
o
So, P(I)= n(s) i)

2

11
(iv) P(B")
Sol. Let B be the event that letter B is chosen.
- VUG BIZS e wii LIBYLS

B={B,B},n(B)=2 and sl n(S)=11
n(B)
So, P(B)= 15) ¥
47;,{\/;; 2
ey T
' et g §
sl ot B | G §
(v) P (vowel d:l:)

Sol. Let A be the event that choosen !etters are vowels,
- Azl L il sy LAY
A={A,L1,0},n(A)=4and .4/ n(S)=11

: n(A)
So,  P(A)=Lg W
Zﬂv - .i’: _: :!-
AR "
Hence (vowel Jils) = e WA

! (vi) P (consonant L#+¥)
Sol.Let A be the event that chosen letters are consonants.
B L e gl LAY
A= {B,B,L,P,R,T,Y}: n(A) =7 andss n(S) =11

n(A)
So P(A) (S) id

L T I

BORRRARRRRIRRRIR

lbbh’)b)'.lb"l.ll'blDllbllh)b.lbl.lllbblllI.D!Illllblbl'bilb..lllh

lll(‘ll.ll!lllli.lll!lll(‘ll(0‘4'!‘1111!1“1‘!(!.11lll!llll‘ﬁl11‘.C“‘Il.l!11llI(Q"1II!lllil‘l“lll‘il“‘ld..)

S ey
7

P(A) = =
11 7
)= — S
Hence, P(consonant L6 ) T

(vii) P(G)

Sol. Let G be the event that the letter G is choosen,

e VYUK G2 et LiGy, W
= {0}, n(G)=0and s/ n(S) =1

n@G
So, P(G) = *(s) A&
= -9— =)

11

(viii) P (a letter)
Sol. Let A be the event that a letter is chosen.

e VY B2k 1LY 4
A={P,R,0,B,A,B,LL,',T,Y},
n(A) = 11 ands! n(8) = 11

n(A) )
So, P(A) = ;(-57 i

1 l
P(A)' P

P(A) =1
Hence, P(a\etter _J/..f N=1 e

5. A pair of fair coin is tossed. Find the probability of

(i) atleast one head. 78 fmg..f[ n/’
Sol. The sample space of two fair coins will be.

..anffbg.t{lﬁu;u
S ={HH, HT, TH, TT}

Let A be the event of at least one head.

~ AP T LA U 7
A= {(HH,HT, TH} —+ oVt e
n(A) =3 and . n(S) = 4

n A)
So, P (A)= n(S) id

_3
4
Hence P(at least one head s (if51f ) = % “
(ii) at least one tail J’-‘._{lﬂf[
Sol.n(S)=4

Let A be the event of at least one tail,
- AU TR
A ={HT, TH, TT}, n(A)= 3 and s/ n(S)=4
n(A)

So, P (A)= H(S) ;Li::}
s
4

Hence P(at least one taj] Jf..gﬂ:/ )= % WA

bl
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- TR L et .

[

i i Two tails I’Lf,ﬁ,g .t
ol Let A be the event of two tails

(i

BRTIW)
A={TT},n(A)=1and . I{(S): 4“"‘ Pl

; n(A)
;‘ 50, p(A)'I=z -n-(?)- g
' 1
"4
Hence, P(two tail Jf,,) = -}f

) three heads (PSP

\j

Sol. Let A be the event of three head but there is no

chance to appear three heeds,
e PPN T E e ASOIL L Tha o E V)
Three heads =0,n (A)=0and s n(S)=4

nA) o
P(A)= n(S) =E=0

A box has 15 pencils, 8 sharpeners, 12 erasers and 2

" pulers. Find the probability of choosing:

0]
Sol. Total things inbox =15+ 8 + 12 +2

2 lgnanlnlendifisc s
a pencil S U I L P13 0

Wbz fies =37
Let A the event of choosing a pencil.

Pencil J":= 15 ?nAuh’;lb’.fG:'lLJ";..._ﬁlfJ)

n(A)=15
n(A)
So, P(A) = T (5) H
)
C 37

(i) aruler ,g,_ﬁ

Sol. Let A the event of choosing a ruler

-.;..Aublv,.La:'lLLg.{W)
ruler 2k = {2} and »! n(S) = 37

n(A)=2
n(A)
So, P(A)= 5) #
N
%,

RN N

-
-
-
-
-
-
-
-
-
-
-
-

I

(1]

PEBERITERBERLS

(11433

uluuqc4daldcnulIoniulln)lnnn-bblnnnnbn.bbonl‘lianunnirpllnbs.boniblvl..

I‘II(C((C‘C“C"(.I!!'I!lI‘I‘l‘ll!..‘!““‘l‘l‘ll

N——

(iv) not an eraser
Sol. Let A is the event of choosing not an eraser.

palndl

e A.;;gw’.,,e:‘lié.ﬂ;z;dl:i.w__(fg‘/'}

not an eraser »=%s = 25
n(A)=25
. - n(A) N E
(B)= a8 = 77

Hence, P(not an eraser n.-'/.l.,ﬁ)
(v) abook
Sol. Let A is the event of choosing a book.

W

-.LA..:r'z'b’.,—li:"L ..,LT AlY S/

But there is no book in box

R ..':ﬁf.;-l:"é):ﬁé. 29

Book =0
So, &1
n(A)=0 and »'n(8)=37 .,
n@) .,
o, P (8= n(s) af Y 1) P0S
0 el CL Ll A
=§7=0 !l,’}d"
Hence, P (a book _.,Cf_,.ﬁ) =0 bz
Hence, P(not an eraser yr.:‘/./.ﬁ = %—3—
(vi) an eraser xdisl

Sol. Let A is the event of choosing an eraset.

-+A.-f'gl(_,u='l£z,du;'2_'ﬁf;_figj)

n(A)=12 and »/ n(§) = 37
n(A)
SO, P (A) = n (S)
12
37

0!

12
Hence, P(an eraser 2.{1) = 37

7. The probability that the team will win the cricket
match is 0.79. What will be the probability of the

team will not win the cricket match?

(. 6L A e 0192482 BSGLILLS
ATyl

Sol. Let A is the event of winning the cricket match.

P (A)=0.79
P(A')=1-0.79
=0.21

e ALK R EI)

(ili) not a sharpener
Sol. Let A is the event of choosing not a sharpener.

e AL L L SIS LIS

n(A) =29 and s/ n(S) = 37

4444¢qeddaddaaqe

8. A box has 8 red balls, 9 white balls, 10 green balls

and 5 blue t.ialls. Find the probability of obtaining.
gl E sy alerog oy lspe st

n(A) : -u./r:"’ub'b’df}w
So,P(A)= (5) ¥ 2 (i) awhite ball AN
29 5 Sol. Total number of balls =8 +9 +10+5 «J
=5 oSSl =3
i 30 : Let A is the event of of taining a white ball.
Hence, P(not a sharpener JiaJ¥) = 37 e ' fh Ai. /1§ g A Mo isad Vi >3

iy . 2
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—— T . Y e W—*_—""x":w (

White vani =9 £ (vil) not a white ball "‘i-tﬁ’.g-“_{
a4 Sol. Let A is the event of obtaining not a white by
n (A) = 9 and »f n(S) = 32 _C_,\._a;glré_tféwnu.—‘fn.f_ng..
n(A) o : ‘9 = 23 and s n(s) « 1 vi
PA) = —"ror = = i n(A)= 32-9 = £ il
ns) 32 : n(A) 23

P(A) = h(s) ~ 32

(i) = blue ball

Sol. Let A is the event of obtaining a blue ball :
- A¥L S P K Gy

3-%:‘
SA

IS ' .
Solved Review Exercise 5 0wl f

LTI

A
>0 I e L e

ot b-?“ 10 1. Choose the correct option. -t[/-rﬁ""i’-:-v.\-_,"
n(A)=35 and » n(s) =32 i. The singular of data is: \ -{-»uJQm
nA) s (@graph I e

P(A) = m =N (c) values 49! (d) observations =i,
(iii) a green ball J/_{, i {i. Ungrouped data is also known a8:¢nﬂm ;
Sol. Let A is the event of obtaing a ! o W

s Ai!’f/rf}j‘a&!k S (a) qualitative data st (b) grouped data siris,/

~_ Green ball = 10 ' il [ raw data Jlrrl
' "'!/ ‘ _ (d) quantitative data WSl

WD 10 and il iii. Pie graph is also called: g 3"-’@'/65

n(A) 495 5
P(A)="ne) " 32 =16

16

(B circular graphd'/d:v'b(b) bar graph L/,
() linegraph U/ (d) histogram 10k
iv. Which of the following graph is suitable, whey ’
the data is given in continuous frequem:y
distribution?
-t L/ a2 J:qﬁ,‘.j{j,jd)?,, o
(2) Bargraph iLJt  (b) line graph L

(iv) nota red ball : n..«A:( b/
Sol. Let A is the event of obtaining not red ball. WS
- A 6l T o Y

n(A)=32-8and »/ n(S) =32

lllOld..‘ll1'.1I‘11114"!."‘..0!".5.5’Dlllb..l.ibl'lllll'!'IDIDI)IDDIIIDDIDI LA R R T I T T e Ty

=24 ; :
n(A) 243 3 Histogram (lf}" (d) Pie graph _:'/Jg
PA)="1he) "3z "2 v. Group data can be in the form of:
(v) aball ‘ Pl -0 P___ani/
P e
Sol. Let A is the event of obtaining a ball. W/ [ frequency table U

(b) raw form fru
(c) ungrouped data :ly‘u’-,};{'
(d) discrete table J.u.-._}‘v #

- AL S 7O
So, n(A) =32 and »/ n(s) = 32 L/

n(A) 32
PN~ 06 Al vi. The value of probability lies between:
(vi) a black ball i:ﬂl—-ﬁ - GUeenl =t ol
Sol. n (S) = 32 W (a) 0<P(A) < 1 Mo < P(A) <1
Let A is the event of obtaining a black ball. (c) 0< P(A) < | @0 < P(A)<I

e AN 8L L)

vil. The probability of getti ber 6 in rolling 2
There is no black ball in the box. P ty of getting number 6 in rolling

444440844000 daqqacan lI.Ql.l‘llIlllillll‘l‘.ll‘.lI“I.."l.‘l’!llll'.'l..“lI.l

-c-gﬂ)lb.érdftﬁ.‘_} dice is: -f—rﬂtﬂ"(LféﬁJx;&ﬁ(Lbﬁfﬂ.ﬁ
= : SR 3 2 |l 5 1
E}gck ball = 0 (@ 3 (®) 3 © 5 (s
.-‘-‘.’ :
n(A)=0and »! n(S) =32 viil. The probability of not getting number 1 in
n(A) rolling a dice is:
! . (
P(A)= 1(s) e PO Tolowe EH VL0 |
2 I S i
0 A T - g - A
= — =) (a) 3 (b) 3 5 [d] 6

32
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The mean of live numbers is 15, 75
four numbers are 16.25, 14.25, 15.50,

(ind the Sth number,
;vi!‘lb'zs' 14.25. 15.50| 15.731'#[;*}1_?_ 15-75L’)’JJLU|&§

(2) 16.25

L
-

(2) 2

!‘

17.02

mno mode uﬁ:kd[
The following list, is of scores in mathematics

examination. <& Jwﬁufd‘bufu:'p-g.:/jgf_iyﬂ

15.73 then :

-fm‘vulf &

(c) 15.73 (d) 14.25
what is the mode of the data: 2,5,9,4,3,6,10,11,127

TEL0bK'2,5,9,4,3,6,10,11,12410

(b) 9

(d) 12

45’75,60163’62’85940g95,96,80,82,81 167,57,48,91,
89,90,95,90,61,52,45,46,98,99,57,60,63,63,67,68,
70,58,61,49,53,98,89,81,79,62,59,49
Construct frequency distribution table of the
given data by using S number of classes. Also find
mid points and class boundaries for given data.

The largest value

The number of classes JWISUH(z = 5
Largest value - smallest value

b
The size of class interual _ HJUZG-..,z f;d;{;,_‘_,

e

f sol. The smallest value éd)‘-‘,’a.,_,- =40

Alser =99

| ,,yJ’L?.,,U[ﬁJ?é.Li.‘ﬁ}c‘-u{l‘adjq(ﬁ—v‘d’ﬁ/‘,—U-?u"s

s

Number of classes

JU;’JU?L?.
- 99;40 LI, -
Class Intervals | Tally Marks | Frequency | Midpoint|  C.B
& atl‘#‘ﬁ(f =8 .F'du‘": gty
40—51 INTI 7 45.5 [39.5—51.5
52—63 i AL 15 57.5 |51.5—63.5
64175 | 5 69.5 |[63.5—75.5
16—87 M | 6 B81.5 [755—873
88—99 L 11 93.5 [89.5—99.5
Total Lf=44

. The table below Shows Saad's yearly income in Rs.

from 2015 to 2023 Draw a line graph for the

following data. _
et )TV 2003 < 2018 S 3
-U:’thfuu rJ'r’U_' S E
ar Jb 12015 | 2016 [2017] 2018 2019 | 2020 | 2021 | 2022 |2023
,:::’r’:a 25000{23000}30000128000/38000/32000{35000{45000
Jaloy,
———

o If the first § Sol,

a

»
-
a

LR R R e L I R )

d1deadaed

= s e
- - - . — L] +
- S - S
-55000
\ tso#uo — 1+ =i T
45000 A T T
-40000 —
e /N |
30?lm : T/JA. ol ;
-15000—$ql J
10000
w e n =2 2N N ]
e——o—o—eTeTe o 2
- TR T T T FTOTah Jaakad il
(a) His yearly income in 2023 was Rs. '2900-"."1[:9:
than his yearly income in 2019, What was his
- yearly in come for 2023? Heduarsath)
o 1301112000 4T 05201904 T2 0L S 2023
i 7 P P
S hwat2023d

Sol. incom in 2019 w47 L£2019
incom in 2023 4742023

(b) In which year did Saad earn

]

Rs. 38000 &
38000 + 12000

Rs. 50000 1

Sol. Saad's least income was in 2016.
..u‘?’c_.f-'JLwau-' »2016
(c) In which year did he earn 2 times as much as he

earn in 2015?

(d) How much did h

Sol. Total income fro

(1)
the least?
TU‘H’G—V’UATJA“;JV&W

UL 2220158 LSl
Sol, In 2023 he earned 2 times as in 2015.
U e 2015£2023

m 2015 to 2023
s TIE2023 42015
= 25000 + 23000 + 28000 + 38000 + 32000 +

35000 + 45000 + 50000
= Rs. 306,000 &

e earn from 2015 to 2023?
PV 1 2023020151

ldQCl“.ll!llﬂ'lllll‘l‘l‘l‘"“‘.".C‘..lill.‘lIlll‘"lllllll"l‘.G'!ll'll‘ll.l‘lllll’l‘.Ill.D.'p)l.lpl)'lliDD....I.l".i.i"..l.".iD.i.’l.).."i?.i.i‘.ll.i.t)

4. The percenlagé of expenditure of a company under
different heads Is as follows. Represent the lollowing
Information on the ple char.

St ule L pir £ Urt i as § § e N EF L
L LIS
Heads of |Salary |Electricity|Conveyance|Machines
expenditure| ,; . S - Ay S
ﬁﬁ;kljl
2yt
Percen‘tage 40% 20% 15% 25%
)
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Sol.

Heads of expenditure| Percentage | Angle of sector
e s L =11 ) 7.3
Salary o 9
alary o/ ¥ 40% —4—0—x360'=|44'
100 .
Electricity ¢ Y
ectricity J'( 20% 20 « 360" = 72"
A 100
Co =y -
nveyance 25 15% 15—-x360 = 54
il 100
MaCh. e d '250\1 2
ines 2= % x 360" = 90

¥

" Electricity

w

L R L T e T I I NI NN I I T

f .
ontal bar graph of favourite

Fruits of the g

W

iz
Hori .Jl/;l,(}’f(u,l{.éy |
g R
r—
4 S i
.\_‘; Peach L L
2T -
\ﬂWalermelen -
— e
s L
*".-.." Banana
=
"
m -
we Strawberr
° d/."‘/‘
)
E Mnn'_{u‘ —
N il —_—
Z (i
24 6 8 101214 16 1820 2

Number of students 3/ b

6. The following frequency table shows the numbe
toys sold by shopkeepers in the last six months oy,
year. Draw a histogram for the following data;

L(,é a9 )uf.t{ ég;ﬁ Jls r»duy ((-%Jﬂd Youis
,u_"l,-‘ rl/ }f';_;lrJ_Lyﬂ.‘L C&W:GWJU;’VU,

Convﬁ;nce Number of [101-500[501-900]901-1300] 1301-17001701-21(q
oW
3 Rytdily)
. 5. Draw a vertical and horizontal bar graph for the : =rre=rm— 70 120 30 0
following data: b e shopkeepers
U et 3.;»149_5’/:&(3’ WLl ALl 3| fuseths
Favourite [Mango|Strawberry| Banana|Watermelon|Peach 2w
Frut | o7 | gar | & w5 | 937 | E Sol
quxz, Number of toys Number of CB -
Numberof| 8 10 15 20 5 EANT shapkeepers sl
students i EASD)
S i 101—3500 50 100.5 — 500.5
Sol. 501— 900 70 500.5 — 900.5
Vertical bar graph of favourite fruit of students i 901—1300 120 900.5 — 13005
SN KU LW |3 1301— 1700 80 1300.5 — 17005
:| 1701—2100 90 1700.5 — 2100.5
—A :
Y b
20 Y
.18 5
e %
' 14 5 L = 120
3. 4 d : R 100
- | i : £ 3
g0 : - é -80
B £ % |60
Z |2 z [0
' > :
Mange |Strawberry BananaWatcrmelon Peach | x z WV W oW o own v X
ALz ARZEE RS E
Name of Fruits (tZ o/ P ¥
i CB nej i P
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1.0
distribution table.

L e gl (505 i

raw a histogram lor the following frequency

30-40[ 40-50 [50- 6060 - 70]70 - 80|80 - 90
25 | 40 | 38 [ 27 [ 40 | 18
45 Ll |

g fo - -

[ 1%

2 a i W

23.9

B

z [

0 50 60 70 80 4"’

C.B (Mark) seJ\2d

g, Find the mean, median, mode of the following data.

LA i s
() 57,69,68,74,57,58,65,69,70,80

| gol. Mean bsl =T
~ 37:69468+74+57+58+65+69+70+30
" 10
= E‘i=66.7
~ 10
Median _*&-s:

Arrang the data in ascending order

BNy g
57,57,58,65,68,69,69,70,74,80
The number of terms are even, SO the madian will
be the mean of the two middle most terms.
i £9% b’uu}dwdqf’r»:;uﬂg. Vie -

68+69 137
Median by = ; - =685
Mode »sb:
Modewk = = 57,69

101.5, 88.25, 99.25, 97.35, 11 1.5, 100.25
X

Sol. Mean b-sf =
; U028 85 35459 75480 501 84 95499 5498 64101 $488.25+99.25-97 35+ 111 53+100 25
13

L 12y g
-=95.15
Median,_—'&—::

Atrang the data in ascending order.
-U:Jnfr_:}bﬁd}”d—‘g_;;]g'ﬁ,

' (i) 100,25, 85.35, 89.75, 80.50, 84.95, 99.5, 98.6,

BEPNRENBRRERR RN RRRRR RS

LA

»
BERRRRRERRO RN b RN AR ERIR RN ERRBARSY

Cedeeeesqaeddannney
R T I S T Ty
bERBRRRIRRRRSY

dedeae

LELARENE]
LR R R R R PR CRCECCRIRLL]

5,84 95 85.35,88.25.89.75 97.

100.25,101.5,111.5

There are

Median su-1 - 980
Mode »k:
Mode 12k = 100

9. The mean of 8,9,10,14 a
observation x.

Sol. Mean b~/

x| =

13 term

=1

=5

Ix
n

-

P
80 35,98. 5,99.25,99.5 100.25,

s in data. The number of terms is

odd, so the median will be the middle most t_czm. ;
nfdpse wrsind J-e S re 13 IS ALY

N 14+10+9+8+X

10 5
|ox5=14+10+9+8+x

50=4] +x
50-41=%

9=x
10. The mean of 15 ob
was found on rec
wrongly copied as 1
L 128,50 mePy A
s

Sol.Mean b~/

number of terms

25
nd x Is 10. Find the value of

o LA Xads 10a-s1 2.8,9,10,14

servations was calculated 200. It
heking that the value 125 was

52. Find the correct mean.

vy 30 2005510Un 15

J#aalarn B A 152
= 200

:’.&JJ(JJJ.J =15

Sum of 15 terms JJffuu;’lS =15 x 200

= 3000

Total of 14 terms excluding 152 = 3000 - 152
= 2848

Tx

n

A4 SJe 152
Total of 15 term including 125 = 2848 + 125
AgunsL e 125 =2973
Correct mean b-sl=—x i

A

11. Find the mean of following data

|

(38

LSl S
Length(mm)J/ [30-50{50-70]|70—-90(90-110 | 110130
Frequency »8 | 15 18 35 20 13
Sol.
intervals &, (N=los” ¢ fx
30-50 15 40 600
50-170 18 60 1080
70— 90 35 80 2800
90-110 20 100 2000
110-130 13 120 1560
Sf=101 3 fx=8040

——
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oy E'\ 8040
XeSH = Sore180
(i)
"|Length(mm)Ji| 610 [11-18]16-20] 2125 | 26 30
Frequency Iy 48 35 120 135 110
"Sol,
intervals &, (b X fn
6-10 48 8 3184
11-15 53 13 689
16-20 120 18 2160
21-25§ 135 23 3105
26 - 30 110 28 3080
21=466 Lfx=9418
L% =218 a1
466
12. Complete the following -q/d‘f’ 3 p0u0
Sr.No n(A) n(S) P(A) P(A")
) 11 17 1 6
17 17
(ii) 1 21 A 20
21 21
(iii) 1 3 1 2
3 3
(iv) 21 36 21_17 S
36 12 12

13. Tahir throws a pair of fair dice. Find the probability
of getting.

SIAPIV o (VI PO (3 IO =P PN PRIV Ay i

e S Tl 3000 A XL KbE Uiy AV
.A = {(2,6), (3.4)| (3!5)1 (3l6)l (4a3)0 (404)n (4-5)v

T N——

(46), (5.3), (8.4), (5:5). (6.2): (6:1). (6.4))

n(A) = 14
nA) 144 7
PA)" n(S) ™ 3618 I8

(lif) number 5 on the 1% dice and at least 3 gy Inq
P dice, L Naf e pinis g,
i Sol. Let A is event of number § on 1* and at least 3 on
i 2nddice .
e P TJ/J'//,Q_',':_./:.-/:'S{L’:}:’: S
A = {(5,3), (5,4), (5.5), (5,6)}
n(A)=4
nAd) 4 1
PAA)="n(s) “ 36 9
(iv) no even number on both dice stoamed Ly f
: Sol.n(S)=36
: Let A is the event of no even number on both dig,
-4_.32'&”&. (SR LN
A ={(1,1), (1,2), (1,3), (1.4), (1,5), (1,6), (2,1), (23,
(2,5), (3,1), (3,2), (3,3), (3,4). (3.5), (3,6), (4,1),
(4,3), (4,5), (5,1), (5,2), (5,3), (5,4), (3.5), (5.6),
(6,1), (6,3), (6,5)}
n(A) 27_3
PAY= ns) ~36 4
14. A letter Is chosen at random from the worg
"STATISTICS". Find the propability ot getting.
WUrPL S saur 7Ll STATISTICS 5

- /r:l"utl

N s e T g

preERR

L R R R ]

4444480 PRDPPRRP PP

-
-
-
-
-
-

: (i) P (vowel)

'Jff’w ¢ Sol. Total letters in the word "STATISTICS" are 10
‘(i) Even number on both dice. ~UsmislaP UMy Ly ) -G FLISTATISTICS
:Sol. Total Number of sample space is 36 by throwing : SoeU!  n(§)=10
. P : n (vowel) =3
two dice -u3'36..-utbk&£_fab£.:ﬂn
n(S) = 36 P (vowel) = 0
Let A do the event ofcvcn.mimbers on bo'th dice. i _ (ii) P (consonant)
- AYEINE T 212 U ) { Sol.n(s) = 10
A = {(2,2), (2,4), (2,6), (4.2), (4.4), (4,6), (6,2), i n(consonant) =7
(6:4), (6,6)} : n(consonant) 7
i n(A)=9 : P(consonant)= ————— =—
: n(A) D o
P(A)= n(S) ' (ii)P(T) (iv) P(T).
9 | i Sol.n(S)= 10 . Sol.n(S)=10
T 36 4 P oM =3 n(T) =3
(if) Product of dots between 10-30 n(T) nM 3
el 300 AL WS P R(T)= P ) " 10
Sol. n(S) = 36 : 3 i
Let A bet the event of product of dots between 10-30 3 “ 0 P(T ) =1 1o

-3 1!
R |
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1.

Lﬁﬁps://

| Mu :((é\)):lo (vi) P (an alphaber)
ey Sol, MS)=10
n(A) = | ,
n(A) n(an alphabet) = 10
PA)= w(S) ~ P(analphabet)
) " “h(alphabet),
0 : T ()
i) P(G) i S 4R
s‘ol.n(S)= 10 0 !
n(G)=0
n(@G)
P(G)= ()
.. -
o=

(OBJECTIVE TYPE QUESTIONS)

Questions Based On New Examination Techniques
Knowledge, Understanding & Analysis

Multiple Choice Questions (MCQ's)

The collection of information in the form of facts

and figures is 4
-‘;m&¢&&wwu‘qﬂwﬁwl

Data (&3)s1» (b) Numbers sLs!
(c) Shapes J¢! (d) None 20y

Data is represented by ____ methods: ;.

, --:;..t‘@%tb‘;:_uﬁjx................fﬁj
Bl two (b) three (c) four "J"zd) five
The data which is orranged in a systematic order
is called. -‘4.tlk6!r(ﬁ,-[nﬂ:,£}'¢("" SeLinks
[ Ungrouped u'u/;-f (b) grouped u’uf
(c) Both (a)»!(b)uss  (d) None 05"
A distribution that represent classes along with
their respective class frequencies called.

e b S E )R ML P n 2]
(Bl Frequency o) (b) Boundary »
(c) Table Jsu (d) None 0f

## mean -f—'-r”"
@2~ (b)3 ()4 xS
In bar graph uses. -UJLIJV":’%J'J;@

(a) Points b (b) Figures J z+*
B Bars i . (d) Sectors J/"-:

In pie graph uses. - fLAUEIAIN Jk
(a) Points & (b) Figures qzr‘"’

(¢) Bars 1t Sectors ;£
___Sumofall values PRI

———— " Totalnumber of values ,,);Juk}'

(a) Modc 3 [ Mean bl

(¢) Median Sl (d) None uﬁ‘ﬂf

e

9. Mean of+h1[ 92, 110, 90, 95, 115, 105, 100 is
@103 (102 (cy100 @100

10, 1f 39, 33, 37, 41, 43, 36, 34, then median is,

S 2o
(a) 34 (b) 36 @37 (d)39 /

11, If values 3,4,3,5,6,3,7 then made is 1yt
3 (b)4 ()5 (d)6

12. In 5,9,8,9,10,11,10,9 the mode is. - wk
(a)7 (b)8 (c)E (d) 10

13. Any process which generates out comes.

BAABISAIBRNERRN RIS

(YT

[B) Experiment ¥ (b) Probability =t
(¢) Event #Is (d) None 407
14. If /i = {1,2,3,4,5,6} then 7 n (S)= __.
(a) 3 (b)4 ©5 ()
n(E)
1 5- 1 ];Eigj

@E® [PE) (EE) (@P(®O)

16. Two fair coins are tossed, what is the probability

of getting 2 heads.
-u_fu&’»TLijgz.'-’ngwa/uﬁ)_,z

I
@3 O3 RCE
QO Give short answers. P
1. Define data. -q/ul_‘..gfd’(lzﬁ)nr

Ans.The collection of information in.the form of facts
and figures is called data.

_+bU:G'fJ:f(aL}"’Lﬂ.:n‘JJlﬁu'ﬁl

2. What is continuous data? vlung’uzsd'“
Ans. This type of data contains measures.
- 't
_d‘:.t'ﬂg)x/{w&"l‘cj:-

3. Define ungrouped data. -q)bg..yﬂf&sw/}f
Ans. The data which is not arranged in any systematic
order is called ungrouped data.
..-I'_.C‘lk'((l}.i)ﬂr‘u'u/;;;ng&u#];ﬂ(rlb‘i)(‘fl}._gﬁﬁi
4. What do you mean by grouped data? '
Tt“_:b‘gcu'afr_.ﬂf(ﬁ);
Ans. The data which is arranged in a systematic order is
called grouped data.

-‘a.c*LL,lerw,);ql_fp.,._:}gﬁ(("’ e LI
5. Write the symbol of frequency. -u.‘a’:/lb(fu";.r/
Ans, Symbol of frequency is f. -q.fwagf{vfj
i 6. Write the symbol of tally marks. ==t/
- Ans, "\" is the symbol of tally marks. -.;-_.;«'wJJZLLE“\"
¢ 7. Whatis bar graph? -‘Ll_fulﬁ&

Ans. A bar graph is a graphical representation of
numerical data of different categories.

-‘Lzlﬁuﬁf/ft‘cidmﬁ_c.uﬁ_.",ﬂg
8. How many types of bar graph. Name them?

Ao
Ans. There are two types of bar graphs. S ST NS

lld1(l1llIIIlf{l‘l0.“1‘-4““1!1(.“‘..'i.'lDDD’DFDDDDIIDD'IDDDIIIIDiIlIl.D‘lDDlD.IIDDIlD‘.Dil.."P.D'.l'.lllbbllllll!Illllll

404404404 ddaiqedqeqqIcaeadeane

sdddadaaden

-

CeAdddaadadaq

stepacademyofficial.com/ _
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(1) Vertical bar graph -;'/CLd’f! : 20. What is Experlme'l“o ¢ -““mi 1
(ii) Horizontal bar graph S i Ans.Any process which ge:;}a;s}U(_ c?",“ €all,
9. Whatis Line graph? \'q-k(—JU'::fU Experiment. g2 *7‘,-1’: LA ‘fﬂfj
Ans.A line graph is drawn by using several points which 21, What {s favorable outcome. "?'%b, s
are connected by line segments. Ans.An out come that represents how many g ™

-t Sbe AL L6 18 2 (/P

10. W!m do you mean by Pie graph.-q_;ykﬁ:.d'fdk
Ans. Pie graph represents the data in a circler shape.

: ULt 0t A
1. Define line graph. LA AN JB
Ans.Line graph is used to represent the data which is

changed over the period of time.

et #AL S L el L1 SIS
12, \‘\fhy we use ple graph. 1L /U-Iux} (7/—"/635
Ans.P;‘c lgraph is used for the comparison of parts of a

whole. .

- L LIL L rgpnl o LSS
13. What is Mean? -l
Ans.It tells us the middle value of given data.

bt iL e
14. Find mean if we have 92, 110, 90, 95, 115, 105,

100. _unuy..mﬁq/p'vw
Ans, ¥ = 926110490+ 95+ 11321032100, 308,y
15. Write about median. -u..‘duf:_dﬁglb:

Ans.It the values of a data are arranged in ascending or
descending, the middle value is called median.

B

bt d QeI LS S HOFS

(PZL]) e K

16. Find the median of 39,33,37,41,43,36,34
-u_’)?:‘“glh—:
Ans. 33, 34, 36,37,39,41,43n="7
: Y 741 8
Median k-3 = (T) g g
So, 4th term which is 37 is me(il;..n;.:w:.ajﬂfzﬂﬁ
17. Define mode. ; -uf‘r J/Ub"
Ans.Mode is the most frequently accursed value in the
given data. ; Y
g el e U Pt
18. Find the mode of given data 3,4,3,56,3,7
AL s
Ans. 3,3.34,5,6,7,3 is mode. -3
19. Write the formula to find the Mean for grouped
data. L Simss S L i
3 fixi
2fi

n+l =4|h

A =52 3.n.X

Ans. Median =&-s =

Illl‘lldd.bl"’ill!.’.i"Dbiii’bbtiblilill".llllllllll!lDI.D.!IIIDDIbl”bi’bblblillltbtl)lbllblbllll')..!llll!

((d.1.‘Cll“l"l|i|l|1"!'Q'I‘!1‘|l‘l.‘l‘l.““I‘.‘ill‘l‘lll‘lllllllll.““ill‘.“‘ll(l‘lll.l‘!‘l‘ll

22. v
Ans.The set of all possible out comes of an €Xperip

except the things to be happen called tavg, J
by
outcome.

-t,Egéﬁ;(ﬁVUHu(;IJLZLL”LZJ%h
What is sample space? ?.ng‘;;

tn
is called sample space. )

gL SRS e LS JIolatransir o, "

23. What is event? ‘
Ans.The set of outcomes of an experiment s ,

24,
Ans.When an event cannot occur in any g,

25.

“-Q’ &

I
C:).—.u.:w;é /}d

?lL g(-:r'(l) ‘;"Qﬁ;

event. g epler(t
What is impossible event?

experiment called impossible event,
-{-t'l};‘f:") . t'”dou"r"ﬂ;’"”*ﬁ':/fégj
What is likely event? - tn Sings

Ans.An event is called likely event which will propyy,

26.

occur.
What is Unlikely event?

-ytdﬁ tn(ﬁq.u_r{.»;gg_f
-‘Lgtﬂj‘”é;‘/}

Ans.An event is called unlik:? event which will py

27.

probably occur. g Een b e dun g
When we roll a dice what is the bribability of
getting the number 2?

fe BTN T2l b b,

Ans. E = {2},n(E)=1
S = {1,2,3,4,5,6}
n(E) 1
PE)=. %(5) &
28. If umer rolled two fais dice find the probabiliy

of getting odd numbers on both dice.

LIPS TL 0wV E Ll

Ans. A= {(1,1), (1,3), (1,5), (3,1), (3.3), (3.5), (.}

29.

(5,3), (5,3)}

n(A)=9,n(S)=36
n(A)_9 _1

P(A)= nS) 36 4

A box contains 10 blue cards; 8 green cards and
12 yellow cards. A card is chosen at random
from the box. What is the probability of choosin
blue card.

brﬂfg‘ﬁ(f(&-u‘_b'br% llﬂlr"{&glﬂlﬁ(‘-/p’j'g
g Zoeds

Ans.P(blue card) 5,61  Blue card = 10 L6
n(A) = 10 Total cards M"f ~10+8+12=30=08
_ n(A) _ 18 1
PA)Y= 1) "3073
%Gk 1
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